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' : {Muliiple Choiee Type lemns}
1.. A. Choose the comect & femaff ses for the following:

) {A+AB+Fisequalto

A R Y T ey §e S5 G0
A (10110} s equivaientto y o Tl
a) 20 -4 by 22 e c)24 - de

iif) 4 BCD cousiter is an examie of.
2} a decade countsr

. b} a full modules counter
¥'¢) boily {a) and (b}

d} n’ane of ii'iESE

) The oulpwtafa gate is LOW if ang oy if aB i mputs are HIGH. i is tme for

aj AND _ v"bg}ihﬁp . ¢NOR e d)hﬁw)
¥} Dewmﬁcfgan S Ea.g siaas:a trmt ‘ | |

YA (atB) =45 - 6)‘{A+é‘t»'=4??-zé"
A AT d;am(a;mﬁ
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The lement i :
a)0
c) equal to the variable

vii) 2's complement of 101011’ is
a) 010100 b) 010011

viii) What is the ASCII code of ‘A™?
a) 98 b) 0100

ix) 4-bit resister can store
a) a bitata time

v'c) a nibble at a ime /

¢ %) In toggle state of JK Flip-Flop

: a) present output is opposite of previous oufput
v ¢) both (a) and (b)

- xi) Full adder can add

' a) two binary numbers

c) four binary numbers

" xii) MOD-10 counter can count upto
a)9 ' ¥b) 10

»_State and prove De-Morgan’s theorems.
3. Express the Boclean function F=

- 4. Define multiplexer. Why

See Topic: CO!

7a)Usmg K-map method. Si
 expiession:

Group —

(Short Answer Type Questions)

See Topic: BOOLEAN ALGEBRA, Long Answer Type Question No. 4.

DIGITAL ELECERUENA

b) 1

v d) the inverse of the variable

c) 101001 v'd) 010101
c) 1100 v'd) none of these
b) a byte at a ime

d) none of these

b) present output is same as previous output
d) none of these

b) three binary numbers
¥ d) none of these

c)8 d) none of these

AB+AC in a product of maxterm form.
See Topic: BOOLEAN ALGEBRA, Short Answer Type Question Ne. 7.

is it called “Data Selector™?
See Topic: COMB!NA’I"[ONAL CIRCUIT, Short Answer Type Question Ne. 1.

. 5 USe 4:1 MUX and other necessary logic gates to design a f-,ﬁ! adder.
VIBINATIONAL CIRCUIT, Short Answer Type Question No- 6.

6. What is fip-flop? Whatis meant by race condition?
See Topic: FLIP-FLOP, Short Answer Type Questiori No. 5.
g : S Grqup—C
(Long Answer Type Questions).
mplify the following Boolean fun

ction and obtain minimal SOP.

-Y;,_.'Zm(o,_zg,.ﬁ,7)+’2_d’_(8,10,11,'15)- 3
ST BOKDEAY

?
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 POPULAR PUBLIGATIONS

- ) imploment the Boolean Function: GOH L
& KZT B, C.D)=Ym(0, 1, 3. 8 9,15) using two 4- to-1 mulliplexer and on 9 .

Q) Dasxg\ a gray code 1o bintry convertar circuit of 5 bits. : hal: ‘l:; :-ibhlo?

- 2) See Topic: KARNAUGH MAP, Long Answer Type Ques n';m s 2
b) See Topic: COMBINATIONAL CIRCUIT, Long Answer Type sion
©) See Topie: COMBINATIONAL CIRCUIT, Long Answer Type Qu

8.1a) Desrgn a half adder circuit using winimum number of 2-input NOR gates only Write Down ihe
table and Boolean functions also.

n;]i]on::t a D flip-flop to a J-K tiip-flop. You can use additional circuiting if roqu;rz: oo mmes

~ ¢) What s full subtractor? Explain its basic structure with proper logic diagrams

a) See Topic: ARITHMETIC CIRCUIT, Long Answer Type Question Nu. 4

) See Topic: FLIP-FLOP Long Answer Ty pe Question No. 12(b). !

¢} See Topic: ARITHMETIC CIRCUIT, Long Answer Type Question Ne. 3.

8. a) convert the following:
) (AC1S), =(7,,
i (1011001), =(?), .
b) Discuss about the design of an odd parily generator.
) Explain the concept of parity checking.
d) What is the advantage of J-K flip-flop over SR flip-flop.

“a) See Topic: NUMBER SYSTEM, Long Answer Type Question No. 3.

- b) & c) See Topic: COMBINATIONAL CIRCUIT, Long Answer Type Questxon No. 8.
~ d) See Topic: FLIP-FLOP, Shart Answer Type Question No. 4.

10.3) Whatis the difference between sequential and ocmbmahonal circuit ? 3
_b) Describe the propagation delay of a flip-flop.

. ©) Express the Boolean function F = AB+ A" Cin
a) See Topic: COMB[NATIOV;\L ClRCUlT Short
b) See Topic: FLIP-FLOP, Long Answer ’l‘\pe Qu
<) See Toplt‘ BOOLEAI\ ALGEBRA Long Answ

a product of maxterm form.
Answer Type Question No, 5.
estion No. 12(a).

er Type Question No. 8.

11. a) Draw a block diagram and write truth table of a D fiip flop.

b) Compare asynchrenous and synchronous counter, :
- €) Use 4 1o 1 MUX and other necessary logic grate to deSIgn afull adder
&) See Topic: FLIP-FLOP, Short Answer Type Question No.

b) See Topic: RESISTER & COUNTER, Short Answer T Qm;,,., No. 1
O See Topic: COMBINATIONAL CIRCUIT, Shoit Answer \

Type Question No. 6,
Eia ' wme the short notes on anyihree of the following:, e | e e i
; a)EPROM SRR e e o
3 b)Dﬁlp-ﬂop_ : ‘ >
: -'v.-,_‘;)_RipplecqunIEr e i Eln i e
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. DIGITAL ELECTRONICS

d) Encoder

- g) 4-bit parallel adder. : :

a) See Topic: MEMORY DEVICE, Long Ansver Type Question No. 3(c).

b) See Topic: FLIP-FLOP, Long Answer Type Question No. 14(b).

c) See Topic: RESISTER & COUNTER, Long Answer Type Question No. 10{e).

d) See Topic: COMBINATIONAL CIRCUIT, Long Answer Type Question No. 14(g).
¢} See Topic: ARTFHMETIC CIRCUIT, Long Answer Type Question No. 5.
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